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QUESTION 1

Which method of storage redundancy protects against drive failure?
A. Caching

B. Vaulting

C. RAIN

D. RAID

Correct Answer: D

QUESTION 2

What is an example of reporting in a data protection environment?

A. Track events impacting data recovery and availability of components

B. Measure environmental parameters and deviations

C. Trigger alerts when backup window is exceeded, and policies are violated
D. Gather data for trend analysis and capacity planning

Correct Answer: C

QUESTION 3

Refer to the exhibit.
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Cﬁent 2

How is a hash created on file Apr.Txt in an object-level deduplication?
A. from content with variable-length

B. from the metadata of the file

C. from the content of the file

D. from content with fixed-length

Correct Answer: B

QUESTION 4

Which recovery mode involves rolling back a system to a previous recovery point instead of finding the cause of a fault?
A. Forward recovery

B. Complete functional recovery

C. Backward recovery

D. Degraded functional recovery

Correct Answer: B
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What is the correct sequence of steps during an image-based backup?

Select and Place:

Proxy server performs a backup of the

snapshot Sl
Hypervisor creates a snapshot of the Step 2
VM
Backup server requests VM
Management server to create a Step 3
L snapshot o - S
Snapshot is mounted on the proxy Step 4
server
Correct Answer:
Backup server requests VM
Management server to create a
snapshot

QUESTION 6

Hypervisor creates a snapshot of the
VM

Snapshot is mounted on the proxy
server

Proxy server performs a backup of the
snapshot

Latest DEA-3TT2 Dumps | DEA-3TT2 Study Guide | DEA-3TT2 Exam Questions 4/6



https://www.certbus.com/dea-3tt2.html
https://www.certbus.com/dea-3tt2.html
https://www.certbus.com/dea-3tt2.html

www.CertBus.com https://www.certbus.com/dea-3tt2.html
CE RT 2024 Latest certbus DEA-3TT2 PDF and VCE dumps Download

Which model does MapReduce utilize?
A. Batch processing

B. Backup

C. Geographic mapping

D. Redundancy

Correct Answer: A

QUESTION 7

Which data migration involves migrating data at the file level using intermediary compute systems?
A. Host-based migration

B. NAS-based migration

C. SAN-based migration

D. Application migration

Correct Answer: A

QUESTION 8

An application developer is exploring the best technology to have the application easily transportable and have a small
image footprint. Which technology satisfies the request?

A. Containers

B. Traditional application
C. Virtual machines

D. Monolithic application

Correct Answer: A

QUESTION 9

What is orchestration?

A. automated arrangement, coordination, and management of various IT functions

B. capability of unified controller to process block-level, file-level, and 1/O requests concurrently

C. moving inactive data out of primary storage systems into lower-cost storage systems
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D. sharing of the storage resources to increase storage utilization

Correct Answer: A

QUESTION 10

What is true for a software-defined network?

A. physical switches and routers dependent on the underlying network

B. physical switches dependent on the underlying network

C. virtual switches dependent on the underlying network

D. switching and routing of the network traffic independent of the underlying network

Correct Answer: C
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